1. S~ -97 291 16 9067 ez e
af* 3 TRme afsfaiag Twmet e

Ans: 21

2. (@ o AGPRER WRTel Pfmm 2021
AT BN96 MET Toifs weet e @E?
Ans: Slgoqx

3. @IS (chlorophyll) NFE @ 4o
TEA ?
Ans: S9CRRIS

4. (TS 0ol (power) UF<F e
Ans: GRIGE

5. (@ oo g 29w Rk gEE
AdeTe FCI 2

Ans: P Terel

RB/CN_LC(P)/2020

1. Witk e draaer et =sa® (colour of five
rings) qey WTF&' =Tohel IR Helewehl Ufaffere
TED?

Ans: Tgcll

2. 3TTE 2021 I AT S Y L& IRucH
Frege) gkl it o Suehl =9 TRT ©72
Ans: 9T

3. frofefed aige® 9e3 9 91 AR
(chlorophyll) |1 U557
Ans: HIFAREH

4. Tl AfTehl (power) THIE o Bl7
Ans: SR

5. TURH FOVRT qieell sol R Jomet g
Il 5T ST TorT?
Ans: a7y =t g
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6. % AT AR T FI fowi 2
Ans: YFO

7. SIS Gl T GG (el SHCIHIT
TR Sl ooy wafeE 2

Ans: (Je14(18

8. 2020 A AfZre] IS AIHT &
TerofaET ?
Ans: 3% 2% (Louis Gluck)

9. T3 W FWE (Wings of Fire) FIF
RINISIECiR
Ans: @ 19 (& =551 e

10. e @ =@ T (Dance form)
IS Q@ 2N (A0 OIF AR, Sl TG e 1 2R 2

Ans: 3%

6. TEAWRI (Gupta dynasty) UTEH ShIeTHT
FAfeeRTIen wToT o foren?

Ans: H&hd

7. R T i hl 1 THAT STTHEEHEA
TeTeAT Tefer eTeerar e fa?
Ans: JeTH

8. 2020 =l HifeeaH1 Hrsiet gLERR forsie =l fora?
Ans: TEH 7 (Louis Gluck)

9. TdT9 THHRER (Wings of Fire) Sh&ehl 3TcHeRIT
712
Ans: Tl S 375l hel™

10. Fafafad 571 wEia I JfeTshl (Dance
form) TR 3cq— Ukl TSeh! AT HIFY URETH &7

Ans: FETgEl



11. (I @0 @F0 Operating System (OS)
3 ?
Ans: 8<I<FeT (Oracle)

12. W& @« 0 FAI&ET (Autonomous)
WROCES (Nervous System) Qi “Fe T 2

Ans: % (Eye)

13. L.P.G. MifeToid Neaie @ o i ?
Ans: TS @ (ot

14. e @9 *fe7 (energy) G 732
Ans: Ml (Pascal)

15. P 203 (2itssa (Projector) o (&
T I 2 ?
Ans: TG A (Convex lens)

RB/CN_LC(P)/2020

11. fafafed 7ed Ha=nfé siifén  fawen
(Operating System) 8Ig?
Ans: 3T&eT (Oracle)

12. % 3T @g 9oedl (Nervous System) §RI
frafea a2
Ans: 3if@T (Eye)

13. L.P.G. Tfereta g=ie =g ue=s?
Ans: & THIUA

14. TafeTiEd 7 =1 S (energy) o THE
A2

Ans: Yr&hed (Pascal)

15. <eIf=s USTeRT1 (Projector) 3 HohRehl =l
T TRS?
Ans: 3@el o9 (Convex lens)
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16. W RS vifaee W@ T A, O
AT @ 20 ?
Ans: SjfE Ares]

17. fe @w ofitd orres W 2o
(adopted) TRE ?
Ans: «0®%9 26, 1949

18. ©1g sTereld Sraaw@iay awd @ fosi 2
Ans: (eTILeT

19. (@& g3(ag fafeios i e e
Ans: #lif&1

20. FOAE OO [T el eifefre afee ?
Ans: 1936

16. IS geatenl ARUR ATTHTSH THTHN YT FHEil
TA?
Ans: &1 e

17. YRkl G99 gl T80 (adopted) TRAT?
Ans: 9K 26, 1949

18. T4 =den W@ s<mg 7 fordi?
Ans: TS

19. dig wwre ffeesw’ 7 fafm afee
forn?
Ans: 9Tl

20. FF U AFE YRAE A Rl T
et fordi?
Ans: 1936



21. ‘Amphan’ G @ ol frcafest 2
Ans: TS

22. 2020 (GifFe SfeTIF Trrefie Fefomres
e Glore! NEe @R BieTa ST

Ans: 9o

23, WIfF TEANE ToRgeifos i Fe
Ans: %6 Zifa

24. 2023 AT FA0E @t [Kpiel (ICC
Mens Cricket World Cup, 2023) (Rl (M0 ey £
2(q?

Ans: ©ed

25. (i MG #ARss=c sifer ™ (Police Day)
Feel Aifere 232
Ans: 1 G557

RB/CN_LC(P)/2020

21. ‘Amphan’ sl STHER] F=E S GRT TR
forn?

Ans: %Ié@l US]

22. 2020 AR ST HHAT et e @ (Javelin
Throw ) ¥&01 farsial TS =Sl % SISl ol AT

g1/
Ans: 91t9q

23, T Y AU I TAHM STAPIT I 19 6
a?
Ans: & e

24, P T 2023 Wi ARHE gE fohehe
fagaeRa (ICC Mens Cricket World Cup, 2023) &l
ST T B?

Ans: HRd

25. ufved e %4 foters (qfew feew’
(Police Day) @l ®IHT TAE-S?
Ans: 1 YRR
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26. “Af*5aCER AdeT GTY @ 2
Ans: 3l (T9

27. I g 7RI 458l (Buxa Tiger Reserve)
ARSI (FI (ST SAZS 2

Ans: SlifeTs[zmaE

28. 10° B5it=t (10° channel) W(HIe @ 9o
SR e (ol ?

Ans: SV @ T Bioio)g

29. e @ afey w32
Ans: el

30. (AT 295 T-20 il e 2eafzet 2
Ans: 2007

26. TfY=H STCTh Fo =T I qel 4 ol
Ans: SIfF geT

27. JATERSd (Buxa Tiger Reserve) 9f¥=H
STl S TSeetmT Tafeed 7

Ans: STETEER

28. 10° = (10° channel) Hafafad =nfe
AYeR! ST ST ©?
Ans: 3{USHM ¥ fhIER 21g

29. FHdIfE WS HHA BIeH?
Ans: HUIH

30. 9Rdel gfee T-20 faverery siget forden for?
Ans: 2007



(9) RB/CN_LC(P)/2020

31. 2020 e feamifEs @b 2751 & & e 31. TR Zromeme QR 2020 s
P ? 55U
Ans: 4G fosaf Ans: ¥H= faart

32. eI Baee@ (painting) P sy Sesife 32. FeER faehel (painting) F T a2
2R ? S TR B2
Ans: SHAW Ans: YUY

33. HIE @D S BT eI oL 7T 33, TRl FA ATTHT TR TRT FUT

(Data Store) (3 ? (Data Store) TR=5?
Ans: ROM Ans: ROM
34, C++ 2 34. C++HA?
Ans: @30 (2R SHRIES Ans: T GIIMHT TS
35. SVEEP Program 32 35. SVEEP Program < @7
Ans: Systematic Voters’ Education and Electoral Ans: Systematic Voters’ Education and Electoral
Participation Program Participation Program

[Please Turn Over]



RB/CN_LC(P)/2020 (10)

36.
Ans:

37.
Ans:

38.
Ans:

39.
Ans:

40.
@RI (Toy MfeE 2
Ans:

I S (et (Dengue) (05 2OM ?
e

(I T2 2RGS0 ST 2fe Bie] ZRITRe ?
2012

GG (Flel TG s e 2
PO

I (96T FF1G Riel-2-3e1f2 25T I 2
SIS

1857 A MRRW@IET T IR
CIRIRAIES

36. FAAIE ARGl B (Dengue) THeTS®?
Ans: Tfeq

37. ufvem e s Uehed hige! IE T
forn?
Ans: 2012

38. TSI G HETSIICeR A forg?
Ans: HTY

39. TH-T-SCE! i TATIT F Tl HHTee] THEH
foq?
Ans: 3ThaX

40. 1857 =1 fagig =1 s wEY fagel &
A HHe TR fora?
Ans: T 91t



(11)

41. SIS TR FATTH (P SR ool
TG -9 SR (ST =T 2

Ans: =T (1930)

42. SO 27ifS FHE™E (Planning Commission)
@I AN Blfe 272
Ans: 1950

43. (SR T T (ORI SR A% 2
Ans: €«

44. 2% == weice @i Sifeere! mmisia’ T
elfeF foreT ¢
Ans: SCAF TR0

45, 27TS ARE S 2l aifsurs’ Fia @1l 2
Ans: Sillsief o731

RB/CN_LC(P)/2020

41. R A HIUE H P AT
Ul TS Rl e WA Ueh forRT?
Ans: @R (1930)

42, A A SRR (Planning Commission)
TATIAT Shigel Tkl foren?
Ans: 1950

43, HIET i BT Helcdd ol A9 oh 812
Ans: 3™

44, f&=<t fRen STamn =1 1 ‘SR
e afeg faw?
Ans: 3T FHR

45. g set U=y gem ufagfd s e
9 % 27

Ans: E'TN]T{Uf <ot

[Please Turn Over]
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46. (GifFe GRIE *smFeal el IeNLE
@I FceTR A2
Ans: SN

47. HIDCO-3 57 Fiol 2

Ans: Housing Infrastructure Development
Corporation

48. “I*5S_CEa AeT #ie (State animal) 12
Ans: (g Aol

49. faxfaikiced S @G wfFesw—er e
(Denmark) Goifeca=l fos 2

Ans: SENsF, 25/

50. G GEHIER Tl A0 DPIE AT 2@ 1
2
Ans: J&| INERA I

(12)

46. AfwT SArfeh qgeh fasian erafer s e
Ans: 39H

47. HIDCO =i fogd &9 & 17

Ans: Housing Infrastructure Development
Corporation

48. 9f¥=H STeTeh! U9 TY] (State animal) S 8172
Ans: T S

49, Trafefad qed qfv=m e 9 (Denmark)
EISIRIEEADRIF

Ans: STOHR, Tl

50. SCTHT ISR a1 e A =s?
Ans: TSI THHEREA 19



51.

Ans:

52,

Ans:

2RI FI F AR 2

3F, 6G, 111, 18L, ?
27p

RIS FI F AR 2

14 1154|196

121

11

(13)

51

53. SUEIRRE MRE WEe Fe6Ee, S o
AEF E GG 997 | SUNRE| SUENF (F 2 ?

Ans:

@RI (Niece)

54. S (odd) *1fo fofere e ¢

Ans:

Trivial

T5?

Ans:

Ans:

RB/CN_LC(P)/2020

. T¥ foem & ARs?

3F, 6G, 111, 18L, ?
27p

11

52. o9 T & RAw?

14

154

196

Ans: 9dTSTT (Niece)

121

53. WWWW% fgetrel 9, 3t
TR ST ST Tkl BRI g 1" AfgeT qeushl

54. 3 (odd) wgeT fafed TR :

Ans: Trivial

[Please Turn Over]
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55. 5 s e o ¢

Carnivorous : Tiger : Wolf
Ans: Student : Boy : Girl

56. =TEE SN AT (e 15 Bl AR (o |
SRR A fuee gea 20 61 2501 | o7 @30 e
25 fBfl ol @R i@ Ji e ge@ 20 [ o |
TENN Tl S MG (A TR TR ?
Ans: 10 =

57. PORTER *%¢ I (I ARCFOF SR
MBNZQN (&2 3, (7 REPORT FSI(F (11 2 ?
Ans: NQMBNZ

58. e @0 2we =3 AfefF (Image) ?
Ans: GVITDI919
EFFECTIVE

v

(14)

55. e foased @IsgR:

Carnivorous : Tiger : Wolf
Ans: Student : Boy : Girl

56. TEHI TR SREE 15 km IR=H T @01 97,
319 smEitafe weht 20 km 87 @ | &9 9fs 3 wR
25 km JaToR Tk S 1T T ST aref q%h i 3
20 km TEET &ITeT | FAHIHT T&H I =R Fid TSl
EX

Ans: 10 km

57. AfC PORTER ¥&Zah! Heh{ieht MBNZQN &
9, REPORT <l Heh{cTeh{ll oh §THeFS?

Ans: NQMBNZ

58. TrAferiaa wegers stfeArn afafara (Image)
HE TTD?

Ans: HVITOIAA4d
EFFECTIVE




59, ZHAIESE I N IAE?
48,24, 96, 48, 192, ?
Ans: 96

60. ZHIAILE I N IAE?
A, LP,V,AE,?
Ans: H

61. ZHAILSE B N IAE?
BMX, DNW, FOV, ?
Ans: HPU

62. o7 PriEw R o7 57 e 3l
e o1 T30 o @3l [iwe fxw o verea 2

a__ bc _ bcd
Ans: adbbad

_a__ beda__ ccd

(15)
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59, ¥ To=d & ARAS?
48,24, 96, 48, 192, ?
Ans: 96

60. 3 fa=ar & =As?
A 1,P,V,AE,?
Ans: H

61. I3 fa=a & =As?
BMX, DNW, FOV, ?
Ans: HPU

62. Tr=fafaa S - auimTeten o A1 qui
™ Afrs?

a___bc

Ans: adbbad

_a_ beda__ ced__ bed

[Please Turn Over]
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63. A, B-93 93| B, C-97 Fj! €32 D =61 A-F
orel | ©ZEE C, D-99 (F 2 ?

Am:@

64. P,Q, R, S 4% T ¢l Jepld (5@ fuica
IC7 Wz | R, P-93 THME @R S-93 i (A
oI BN 67 Wz | T, P €S-« R A |
O (& R-93 i (A el Bit a7 =iz ?
Ans: Q

65. =F I IO IR fawel | fiet @kdE
(AT IAET (25, ST 2R el (AF I TG |
T2IAI SR SN 2
Ans: ®Fa

66. e AT HifE, T 1, 3 @R 7
GFNL BN @A 7 TR @R 18 3 i 7ol
AN ?
2973173771331738571377173906
Ans: 3

(16)

63. ABRIETF, B,CHBAFIID AT A
el §1 99 C YD o Tl & 27

Ans: St

64. P, Q, R, S Y T T Tiiclieh ZeleTehl FRUR
SRR BT R, P I TR T S TS Fl FAATAH 912
ST T S B T, P TS I ST a8k & |
I, R W At o Sl SATTHIR] SHeh 577
Ans: Q

65. TR SER AT =31 o1 S | FrHa1 Sreroit
TG SETHT |1 1 A0 YT 731 SHAT gl 7 |
FfQ ShTehfeT oh1 SHT AU W1 G [0S ¥, ST STTER
Tor=rm =1 ©?

Ans: SIS0

66. TT=TTREa STl @I sl 9eh 1,337
Toh G B SRl 7 AfE s 1 91 3 =0 7l 4
57
2973173771331738571377173906
Ans: 3



67. I S IR | CANoAieTR e qlkE
TR 50 e =19 201, Collelitea srafnel 3 2

Ans: IR

68. <I53 2fibre Foul fage (triangle) Stz ?

Ans: 13

69. A @ =< Wz, W oe feamma
o o A e

Ans: @

(17)
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67. IS ol ST FUER B 9, TiaTet sl StfeA
o SfeT a1 50 fo ufes s | iTeren st
1 e u?

Ans: fogER

68. Tesua! T Hiae fURE (triangle) S1?

Ans: 13

69. 7= forare® "l g=te fosrel dfger, MY
I TIEE & o ol T h Hohd TeD?

Ans: @

[Please Turn Over]
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70. SR *welrs AW SfCamaITSiE
(dictionary) (& ST AISICE 2T, OIZCH (il
*A(5 AR AFCE 2

Electric, Elector, Electrode, Elect, Electron

Ans: Electric

71. I K = 27, LN+ 28, M S 4
T G2 D M ‘X’ T, O &
117L3K5M12D8=2?

Ans: 130

72. @ 2@l foab S== S5 (e =itz | @9
Toig fofe o 2 T99-a9 [eidice F o ©f e
B

o
o

Ans: 6

(18)

70. TEACUH V=TT AfE Tkt (dictionary)
FuHTeTR oM A TS 99 e e stem
R B?

Electric, Elector, Electrode, Elect, Electron

Ans: Electric

71 Ffe K = aed L wmaed fs M
#d '+’ VD' W e x' A 9, T
117L3K5M12D8="2

Ans: 130

72. U3 IR diF fegfq qerfeus S1 Fge
STHRHT &A1 2 1 TIwiad1 7 S U= dihs?

6
4

5
6

)
2

Ans: 6



73. A &I 2R 21 ZIt I 5 2[0
7)o 2(q 2

A

Ans:

74. 2AME TR s+ BT I A 2
164 %5%14+6

Ans: +x=+

75. TRANSFERENCE %9 d¢fefera ey
o =T e @i #A0 tofd w1 AT A2
Ans: FACTOR

(19)
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73. qelfeguenl § fesmeEfé wesieesa e 9o
[EEREIEEY

Ans:

74, fegul HIRO S AN’ h TAFET h
ARAS?
16 %4 %5%14 %6

Ans: +x=+

75. TRANSFERENCE 9% SuiHTeTe Hgadre!
Fafafad = I e a1’
Ans: FACTOR

[Please Turn Over]
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76. (B o] AR 50 2R, 25 21018 10 2170
@I TR SAS 5 2 8 2 3 3R (G Gl 2AfsTel
144 Bissl | 50 =11 @I A4 T 2

Ans: 150

77. @3 77 1754 5FR [T s @ 5l o
(profit) =7, 1492 S e 201 72 #ifarsiel Biweiz
#fo (loss) 2 | O B3 FET (cost price)
F©?

Ans: 1623 5=

78. I G 35 & 219 fee | A =icas 72l
S 7 e if%‘m (increase) #N¥ O@ @FHETH G
b Afofre 42 Bisel Jia ~A1, e iforg <=md 1w
(average) 1 BIdl 7 S (decrease) [ | OIRCHA
2 Ao 1T 436 F© foe ?

Ans: 420 5=t

79. A, B @ C &3 @2 IJRE SRAMIS |
A T4 (capital) aas—@—@mw (one-third) M+,
B ( A @38 C-97 (e SEHC A o1& | I
JRNCE FCed (profit) 217 900 TR 27 O
C 9 BIpl STl #AICae 2

Ans: 150 5=l

(20)

76. TS ST 5 : 8 : 3 T SU@E 50 T,
25 TE T 10 T foem B, Sl S Hed
144 wfo=t 811 50 T faeen o1 S i 82

Ans: 150

77. 1754 ST U3 a5 foifeh TR @ueH 7
I (profit) HHRA Tfeh=s, 1492 &AM &4
faferr=t o Qfd™ =T (loss) TS | RN 91, T
TINTA Hed (cost price) shid fo=?

Ans: 1623 Bt

78. U BEEMH 35 S faenedfew faw Afg
forenefteween T 7 ST 61'@ (increase) 9T ¥,
el el T Hfdied 42 i gfg g, Sefh
ufa =afaqe siraa (average) @9 1 ®Udicl S
(decrease) | @ wfafeT dfgement ofEd @9 &id
for?

Ans: 420 &=t

79. A,B 31 C & e G frerern wrfierd 1 |
A 1 T fagiE (one-third) ‘{Trﬂ?ﬁ (capital) INTEH
T Elh B 1 A TC I SRR ANTEH s | IS aehl
ST 900 Ffu=ieh! T (profit) AT 91 C &l &MY
i &2

Ans: 150 &=t



(21)

80. 8cm Y (radius) A8 < (=12 (sieTss
(sphere)-& 9IfeT@ Fouf 1 cm [AER (ST
“Ne3l QT 2

Ans: 512

81. 76 A @91 (sum) 27 QI eIz
(product) 182 2=, (=G (smaller) NG T 2

Ans: 13

82. 6 47T 9T (average) IM 17 T O
AT @9 (sum) F© 2

Ans: 102

83. I xtan45°sin30° = cos 30° tan 30° TS
x93 i 9 2
Ans: 1

RB/CN_LC(P)/2020

80. 8 cm Tr=amehl (radius) 39 el el
(sphere) ToETT sHfderel 1 cm oA 3141 (sphere)
AT Tfche9?

Ans: 512

81. T WA ANTHR (sum) 27 & 9 TOTHR
(product) 182 g1 | 9MI (smaller) H&AT Hid 2?7

Ans: 13

82. Afc 6 W& #I fa (average) 17 = ¥
HEAREH! AN (sum) Hid TS?
Ans: 102

83. AfS xtan 45° sin 30° = cos 30° tan 30° YT
QueHT x Sl HITT hid Bl7
Ans: 1

[Please Turn Over]
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84. (FI! SPTE (principal) K& M (simple
interest) 20 q2C3 3 B9 (times) 20, 93 A 53
M3 21T (rate of interest) ¥ (3 a4 (double)
Q2

Ans: 10 =9

85. Wb FRANA SIS (ratio) 5 : 8 I S &
(difference) 69 (1, IC (greater) A F© 2

Ans: 184

86. (FI TR F SIS (ratio) Al e
15 51 @ 2ifs (&fer 12 Bl wits Uis el 37 2fs
e Tle 16-50 i f&feE 201 O 20% 7S 21 2

Ans: 7:5

87. 710 Bl @ITeI@ A, B € C-99 1 o9
(divide) FA1ZT, TS A, B-a3 (A 40 i @1 o
G2 C, A-937 (A7 30 B (@1 i1, ©@ C @ Bt
AT 2

Ans: 270 5=l

84. TR TSR T (simple interest) F
3T9e (principal) 20 AT 3 70T (times) T ¥,
i TEH @& AR ST (rate of interest) TH
ST g5 §8 7O (double) TH?

Ans: 10 99

85. TE W& I 3T (ratio) 5 : 8 B T ffigEanl
3= (difference) 69 B A, el (greater) H&A hid
q?

Ans: 184

86. P Teh ST SIHMSRE! hid ST (ratio)
FAA 15 ®E @ 12 w @t ufa fee g
TreTeEeTs fasor R 1650 Syt wfafweimn fafe
= 94 20% <hl HATH §is?

Ans: 7:5

87. 710 ®al o A, B T C &1 994 fasnfea
(divide) TREen! forl T A 97 B =1 40 ©f9at s@t
FIC HTA 9=<130 BT & D | C ol T hid For?

Ans: 270 Bt



(23)

88. ¢ RUIFTa 5 #AT @O @ I A (R
IR 6 FFH 4 &N A, 5% $p0a 3 771 o=
4 =CEa I | Relel @ $paba wied (speed)
eJ7T® (ratio) T ?

Ans: 15:16

89. 15,000 BRAIF 2 I2(H G2 I B (rate of
interest) %% 3% (compound interest) @3 e
AMA (simple interest) 9®d (difference) 26
96 BIF | 9 2R IS F@ et 2

Ans: 8%

90. ABC fagrea (triangle) O +iffqred @@
(circumcentre) €32 ZBAC =50° g&1, ZOBC = ?

Ans: 40°

91. Irew ¢ wfve @b @Y IRONT SRR |
I[ET A 8000 TIF 8 SR &y WE1lol FCF @3R
e M 4 NER G 5P W19 I | IS
wIfes 7t SIS (profit) 20% 1 O e F© HIF
et (invest) Fcafee ?

Ans: 4000 BR<F

RB/CN_LC(P)/2020

88. TS forellel Sifd §HI 5 Ueh SHIHICTS
LT TR HHAHT 4 T2h 3 | TR FFLH! 3 Tha)
IHIE SR foRIeiehl 4 T2k g | foriell T fHeptehl
TTfdehl (speed) 31U (ratio) <hfd 8172

Ans: 15:16

89. =T (interest) 3 TS T, 15,000 =TT
2 99 &l T =g S (compound interest)
GIERoT &A1 (simple interest) H AG B W
(difference) 96 ®UAT &1 9, aftfeh &A1 X i
gIs?

Ans: 8%

90. ABC @I @M (triangle), O =fE URgm
%= (circumcentre) T THH HT /BAC = 50° &l
¥, S ZLOBC = ?

Ans: 40°

91. 5 T el I T WNIGRIAT, 3Terel
8000 & 8 TfgThl T ot =1 A1 Aferer
STfeh 4 AfGHTeRl TR eI TR | ek 781 et TATH
[, ATl 20% =l AT (profit) Il 94, SAferel
hiq ®YaT 99 (invest) T fora?

Ans: 4000 &=o=t

[Please Turn Over]
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92. (@1 4 (cube) &S A2 (side) IM
10% 3 SN (decrease) T3, O O Ao
(surface area) ¥ *[OI*l (per cent) FCS ?

Ans: 19%

93, ¥ MATFAA@. (LCM) 9% 91.371.%. (HCF)
2 IAFE 315 @38 7 | M @36 A4 35 27 O
9 AT T 2

Ans: 63

Ans: 5997

95. (I 25 %~ AN 150-9730% @19
(sum) FF 75 T | R0 F9 2

Ans: 120

(24)

92, Af< Tk &I (cube) Tk 98 (side) 10%
=21 (decrease) ¥, Teh dageh! &1 (surface area)
hid sR{H BTS (in per cent)?

Ans: 19%

93, ggael Ul URMER ALELT, (LCM) T TLHLT
(HCF) #9315 1 7 ®1 1 AfE T3 He&AT 35 71 4,
371 HEAT i 712
Ans: 63

9 999 999 999 999_—-4+999= 4999 —_ =7

Ans: 5997

95, F TA T&AH 25% ¥ 150 B 30% H
TRt (sum) 75 & 94, F&1 i for?

Ans: 120



(25)

96. (T & M@ GIFT TEAIET 9T ToRIH

(one third) 3 fes «ife w1 1 75 s €2
TR T oRH 2MfeT el A2

Ans: %

97. foeia IENW I 7189 WA 6 @ | 6 T2
~c3 foela 31 T ={tas T 3 @l 73, O feld
T T T 2

Ans: 24 =24

98. 54 faers (triangle), T AC = 20 $G,
AB = x 6@ @k BC = (50 — x) o9 =@, o
AB=?

A

C B
Ans: 29 fSGIF

RB/CN_LC(P)/2020

96. T3 sheTel 3 AT U3 Slichen! Teh fagTe wm

<onethird>@m=fwuﬁ,7% frrr =R
Hd 9T WifeT T Giehs?

Ans: %

97. TSR T SH STl BIUH HT 6 TN S |
FE 6 TH d1G, FaTeh! IHR BRI IHT =T 3 IO w0
¥, TATh! FAHH SR hid 817

Ans: 24 99

98. fagwah! F31hI0MT (triangle), Ife AC = 20 m,
AB=xm, TBC = (50—x) m, T AB = ?

A

Ans: 29 m

[Please Turn Over]
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99, (FII B ©IF % S# (part) if\% (increase)
G 40 Biw! 2eeT, 61 BIlR #Ifsiiel o fesi 2
Ans: 35 5i

100. X <% @36 Fe 20 Tt TS 110 | =
B &3l (512 316 30 e 315)ef 031 | et @31ieel e
T €3 G FOMC 51T 202

Ans: 12 fus

(26)

99. @“@"ﬁ'ﬂm% AW (part) Ffg 40 T AT TS
WA, HIS YA ki fosn?
Ans: 35 Bt

100. X <TE Tehel &M TH 20 o7 @Fs o1, B o8
30 feq s | X TB &1 Ef o6 71 94 hid feq ers?

Ans: 12 fea




